Zeb’s Quiz 01

A. FILL IN THE MISSING WORDS:

1. 2nd player plays . 3rd player plays .

2. Bid to the of the

3. Play Highest from the . Play from the Longest.

4. Six: Four? ! Six: Five? !

5. Twenty three* for . Thirty three for . *combined points
B. BIDDING

Which of these three South hands is consistent with the bidding?
How should the other two hands have bid differently?

S w N E

1v P 146 P
2% P 3v P

4v AP

1) a3 2) 9432 3) A AK2
v AKQJ vAQ432 v 106532
4765 .- *9
*AQ652 ®»AK32 *AQJ2

C.LEADING

You are West each time - choose your opening lead against 3NT:

S w N E

14 P 2e¢ P
2NT P 3NT AP

1) AA432 2) a2 3) AKJ43
v98762 v AK32 vJ104
¢ A6 2 ¢ 742 ¢ Q642
% 8 % J10943 %83

Zeb Stocken teaches bridge face-to-face, online and runs luxury bridge holidays.
For online courses and guided play sessions on BBO, see www.stockenbridge.co.uk.
For holidays to Europe, Morocco and the UK, see www.stockenbridgebreaks.com.




